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SANACOR07T-SANSKRIT (CC7)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

cn-fcp:rrrr:
1. 31ti) f<;jRsH1 ~ ~ <l~ xi ff d 'i ~ cH Ij Ixf<;j~ I "il cq 1j5Ol61"tit fc1xiZld IJOtI

(co) tl4!;1l1t?1~ lil'iql'ii ~: f.Hi')~dIJOt I

("&) '<i~'Hlrg\~~ 5OIRl~~dl 'Hlil\JiCLIq'{{!:ITI

3T~

3ltIlf<;j~d~ ~ <l~i8i1CfJ: tiffd'i ~q'iljlxf<;j~1 "il CLlI'Lcilll:I

(co) ~: ~: 'H~lillx: ~ "il ~lllil(iH: I

~d ~ gf4tt >Tf§:~aflC\ ~ <11ffUTl! II

("&) ~161011e1G111fcl!;1li!;1r~IOII~ ~: I

CfJliffUl ~~: II

5xl = 5

Sx l = 5

2. ~: ~ wk~<l~ ~ >rm: ~ ~q'iljlxf<;j~1 "il ~: I

(co) 1F1l: -=m ~ ~ <11ffUTl! ? ~ "il ~ ~ ?

("&) 1l1$1qM'1l'i~ f$ tl4~(Ytli ?

(IT) '<i~'Hlrg\4 CfJRlfcltfl=[? cmf.1 "il ~ ?

(tf) 'Hli I\1j 'fll <1arot ~ ?

(~) CfJfdlqq 3IT-wTWf: ?

("il) 3ffif<:i ~ ~ ? cpT ~ 'Gl1:' ?

(U") cpT PI~t1I':llf: ? em err ~: ?

2x5 = 10

3. <l~i8i1CfJ: >r~: x1ffd'i ~q'iljlxf<;jQlI "il ~: I lOx} = 10

(co) ~ 3ITJ3PiilgtClllil~ ~: ~: fclxiZldlJOt I

(&) ~ !;111f.'flqcffUl qoftiCfJx\Jildl'iIJt 3l'i14\Ji1\1'l'ii ?:fC\ m wo mt xililfl'i
q04dlJtl
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4.

(CP) XRTf.1 ~ LIR1 -®:IT ~ crf.1m ~ xrl Cf)I'\LlII

-;;)ffl ctf.mT iN '\LI Xrll ~ XMTf.i fcl"il ~"il fi(i J I~ u,
(~) ~ xkLl~wlm qR9~ILlljqlC1"iJOtI

~ ~PI~lxloli ~nil~~)t:~ 'q II

3T~

3ltllf&ftj2i~ <t~ QlIj oft ~ I

(CP)f*rf:, (~)~:2l:, ('1") \if]q'jf<l:d: i

Tf-fcMT1T:

5.
(CP) 3l2:l4~~'1~Hil1IFcltjLlq) xtCR1~(h'l~ aRCf)1~ X1~: fq~qJOt ~ I

(~) ~aH"j~jt1I~OI 4lffi~l1~ ~ !>lffiqltldlJOtI

6. <t~ fG<1L1fl1 >t1f1>2irt ~C1"iPlxRqQlI 'q iTcPi ~ I

(cp) fclG~:, (~) ~:, ('1") \JRtfG:, (tT) ~ I

3T~

3m: ~ *tct1~~ <t~ ~ !>lt1~~crJll!5l~Aq)t1f1>2i"i ~Wlxfc;tQlI 'q Cl:II~Ll11

(Cf» ~ ms<l~ ~Ifctd~ ~$!ICf)lcl1 'q ~: I

~ tl4Ri<G~ fcr~ g;r: ¥: II

("&) ~ tg ~~ "f1CfuT ~ ~ I

~ ~ I\!I\J1F1~~\JHl ~: II

('1") t1~LlI!lg'l ft~ql\!: ~

~:-mf.1t1~"'d LlAi ~: I

~:~-$:r~~

"i1~ILlCf)14 m g ~II

__ x__
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5x} = 5

5x} = 5

lOx} = 10

5x2 = 10

5x2 = 10


